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Answer Key (Catch Code: 4115)

SUBJECT:

PAPER: Creating an Inclusive School.

a
.%BABBDBCDADBCBACBCCDDACABCDCCCCBBADDCDBBADCBDDCABBC
n
Q
olo|ojofo|n|<|aja|a|o|a|a|<|a|ag|ojo|<|n|a|o|a| | <|a|a|o|<| < ajOo|n|a|ojo|ajn|n|o|o|n| < njola|o|m|<|m

V.S

Q

KB

mWw.%BABCDBBABCBBBDCDBBCDAACBDAADCDBACDABDADBCDDDABCBCD
(2]

2

AA
%CBBACDDBCDABBDCDDABBCCCCDCBACADDCCBCABCBDADCBDBBAB
(2]
m1234567890123456789012345678901234567890123456789m
Q.55555555566666666667777777777888888888899999999991
2
glo|o|njo|la|<|ajojajo|jo|a| <] oo ||| <|n|a|o|a| | < 00O o]lo|njn|a|o|o|n|m|mno|o|<|n|m|ajo|o|<|m
n
Q
ol 0| <|ojoja|njo|a|<|a|n|o|a|C|o|njo|o|a|a|<|o|C|n[o|alo|o|o|o|n|alL|a|0jo|o|a|||o|o|n|alalo| | n|0|O

V.S

Q

KB

mWw.%CBBACDDBCDABBDCDDABBCCCCDCBACADDCCBCABCBDADCBDBBAB
(2]

2

AA
%BABCDBBABCBBBDCDBBCDAACBDAADCDBACDABDADBCDDDABCBCD
(2]
o
2| ol of 5| 0| of [ o o| 2| | ] 2| ] 2l 2 | 2| 2f & | | ] 3| %] | | =] & 8| 7| 8] 9] 3] 2] 8] 5 8| | 2| 5| 9| 2| %] 2 ¢ | 2| 2| B
(¢]




